Quad & Quad Frame | Pendant & Surface lJ

INSTALLATION INSTRUCTIONS
X1 (T-BAR & SURFACE)

NO. PART NO. DESCRIPTION QTY.
T-BAR SURFACE MOUNT RAIL KIT — PN#105270
1 101959 T-Bar Surface Mount — Main Rail 2
2 101961 T-Bar Surface Mount — Track Rail 2
3 101960 T-Bar Surface Mount — Extension Rail 2
4 100-00035-14 #8-32 x 2 Hex Washer Head Self Tap Screw 18
5 100-00000-14 %-10x5"Round Head Machine Screw 4
6 100-00012-14 '4-20 Hex Nut 24
7 101977 T-Bar Surface Mount — Clamp 4
8 91083A009 #8 x 76" O.D. Washer 10
9 100-00037-14 #6 x 2" Hex Head Self Drill Tek Screw 8
10 100-00008-14 '2"x %s" O.D.Washer 6
11 100-00126-14 '2"x 1%"O.D. Fender Washer 6
12 100-00255-14 '2-20 Keps Hex Nut 2
13 100-00141-14 #8x 4" Hex Washer Head SM Screw (Type B) 4
14 100-00114-14 '2-20 x 3" Truss Head Machine Screw 2
15 106895 T-Bar Surface Mount — 4"x 4” J-Box Strap 1
16 104032 Offset Surface Plaster Plate Assembly 1
17 101732 Surface Mount — Ceiling Plate 4
18 100-00141-14 #8-32 Hex Machine Screw Nut 8
2'x2% 3'x3%
$n I E E & nnmnnnmnnnnmmﬁnnmm-
.i T 000 F ? Il ﬁ oooHI
I I I I I I I I
——— 27" Square Fixture ———— ————— 39%"Square Fixture —————
4 x4
'E E &
Iﬂl I 000 |
[ I I ]
50%" Square Fixture
WARNING: Ground fixture in accordance with local and national electrical codes. Failure to do so may result in serious personal injury.
US Prudential Ltg. reserves the right to change design specifications or materials without notice. Please visit prulite.com for most current data. 10f 10
© 2015 All rights reserved - All products manufactured at: Prudential Ltg. 1774 E. 21st Street, Los Angeles, CA 90058

12-07-2022



Quad & Quad Frame | Pendant & Surface lJ

X1 (T-BAR & SURFACE)

1. 2"x2°,3"x3"and 4" x 4" fixtures all require (2x) surface mounting kits for t-bar installation.

2. T-bar surface mounting bracket adjust from 24" min. to 60” max. Maximum t-bar mounting centers are 60".
Consult factory is t-bar centers exceed 60”.

3. Allt-bar configuartions and ceiling shown on page 2are based on 4°, 48" t-bar centers.

FEED SURFACE MOUNT:

Y4-20 X 3% Truss
Head Machine

NON-FEED SURFACE MOUNT:

Track Rail
#8x 12"
Round Head Hse)|(f|_||)e'a|fl
Machine Screw et brl

Tek Screw

AXA X1 9 j

J-Box S
(BY OTHERSJ\L S

#8-32 x 2 Hex Washer @‘%

Head Self Tap Screw

% «— Ceiling Plate

@

#8 X 76"
Extension 0.D. Washer

Rail

#8 x 76" O.D.
Washer

WARNING: Ground fixture in accordance with local and national electrical codes. Failure to do so may result in serious personal injury.

US Prudential Ltg. reserves the right to change design specifications or materials without notice. Please visit prulite.com for most current data. 20f 10

© 2015 All rights reserved - All products manufactured at: Prudential Ltg. 1774 E. 21st Street, Los Angeles, CA 90058
12-07-2022



Quad & Quad Frame | Pendant & Surface lJ

INSTALLATION INSTRUCTIONS

X1 (T-BAR & SURFACE)

2°x2" CONFIGURATION

2°x 4" — GRID: 2°x2— GRID:
: T-Bar Center —‘: : T-Bar Center —‘:
| 22%" | | 22%" |
| Mounting Center ! | : Mounting Center : !
<5 N5
2 2 l
n
N
s
L a4 8 : R . !
T-Bar Center | T-Bar Center |
: 276" ! ! 276" !
Square Fixture Square Fixture
2°x4 — CEILING TILE DIMENSIONS: 2°x2 — CEILING TILE DIMENSIONS:
F11%46™ F11%6™
— 120" —
12r5" Lol e 3%
~N3g .
T . '.,
- o o
R
—1 %6 —
WARNING: Ground fixture in accordance with local and national electrical codes. Failure to do so may result in serious personal injury.
30of 10

US Prudential Ltg. reserves the right to change design specifications or materials without notice. Please visit prulite.com for most current data.
© 2015 All rights reserved — All products manufactured at: Prudential Ltg. 1774 E. 21st Street, Los Angeles, CA 90058

12-07-2022



Quad & Quad Frame | Pendant & Surface lJ

X1 (T-BAR & SURFACE)

3’x3" CONFIGURATION

2°x4 — GRID: 2°x4 — GRID:

_— _—

! T-Bar Center ! ! T-Bar Center !
I I

I ” | I " |
| 34%e i | 34%se i
| Mounting Center ! | i Mounting Center I !
| |

s <5
2 2 I
n
N
s
. 24" _ 3 P 24" _ . !
‘T-BarCenter ! ‘T-BarCenter !
3 ‘ ! 39%" !
quare Fixture Square Fixture
2" x4 — CEILING TILE DIMENSIONS: 2"x2 — CEILING TILE DIMENSIONS:
r11%6™
—17%"
T ¢ -;.3: T o [ RN
‘ - "_';o.o‘.'z RS,
5 34%¢" 28 346"
M3 M2 o
- ,,ﬂ ::..:.5.9’7':‘7,.'77777 - QC",.A,,, I
PADEEE S e | e
NEERE I : et
—— 176" —— 1%s" o — 176" —— 1%6"
Di:/r1neeter Dia/rlnse(er

WARNING: Ground fixture in accordance with local and national electrical codes. Failure to do so may result in serious personal injury.

US Prudential Ltg. reserves the right to change design specifications or materials without notice. Please visit prulite.com for most current data. 40f 10

© 2015 All rights reserved — All products manufactured at: Prudential Ltg. 1774 E. 21st Street, Los Angeles, CA 90058
12-07-2022



Quad & Quad Frame | Pendant & Surface lJ

INSTALLATION INSTRUCTIONS

X1 (T-BAR & SURFACE)

2°x4 —GRID:

T-Bar Center

i Mounting Center

48"

T-Bar Center

I T-Bar Center

: 50%"

Square Fixture

2°x2 — GRID:

T-Bar Center

i Mounting Center !

|
I |
I |
I |
E I I
£
oS m= L L
< 5 |
&
Jin | |
| I s
£
| <3
3
| 8
| | -
| i
'

E 24"
| T-Bar Center
! 50%"

Square Fixture

2" x4 — CEILING TILE DIMENSIONS:

F11%6 ™ 3"

~ oo

47%
Tile
45"
Hole Center

. ...:'-'..g:_____

45"

I
|
|
S Hole to Cut-Out Center

I

|

[
©

N

16
Diameter

— 23%" ——— 1%

2"x2 — CEILING TILE DIMENSIONS:

%6 %7
i |

N el ::;[7,”]'
oo ‘ 1:2 e
sl 1
e
mniE
o~
A o]
H 1%
16
Diameter

WARNING: Ground fixture in accordance with local and national electrical codes. Failure to do so may result in serious personal injury.

US Prudential Ltg. reserves the right to change design specifications or materials without notice. Please visit prulite.com for most current data.
© 2015 All rights reserved - All products manufactured at: Prudential Ltg. 1774 E. 21st Street, Los Angeles, CA 90058




Quad & Quad Frame | Pendant & Surface lJ

INSTALLATION INSTRUCTIONS

X1 (T-BAR & SURFACE)

Fixture
T 48" 1
' T-Bar Center '
; Diagram A. 1
| . Mounting Center -
1 Quad
i :
Quad Frame

T-Bar Center
Diagram B.
Mounting Center

Nominal Size
x4’
2
A
x3’
4

17

#WN#L\{NN

x2°
Y3
4

Dim. A
6'%6"
22%"
22%"
34"
45"
22%"
34"
45"

WARNING: Ground fixture in accordance with local and national electrical codes. Failure to do so may result in serious personal injury.

US

Prudential Ltg. reserves the right to change design specifications or materials without notice. Please visit prulite.com for most current data.
© 2015 All rights reserved - All products manufactured at: Prudential Ltg. 1774 E. 21st Street, Los Angeles, CA 90058

Dim.B
45"
22%"
45"
34"
45”
22%"
34"
45"

60of 10
12-07-2022



Quad & Quad Frame | Pendant & Surface lJ

INSTALLATION INSTRUCTIONS

X1 (T-BAR & SURFACE)

POWER FEED SECTION A-A

24" Min. - 60" Max

Bracket Adjustment

%-10 x 5” Round Head 14-20 x 3" Truss Head

«— Machine Screw axa Machine Screw

Tap Screw\ l

#8-32x Y2 #8 X V4" Hex J-Box Strap
Hex Washer v op Washer Head SM Clam
Head Self a"x %" O.D. Washer - Screw (Type B) }-20 Hex Nut o p
' ' PN
#6x 12" Hex /!
Head Self Drill j
Tek Screw ; .
! ] . . ' WE‘
T Ceiling Plate Ceiling Plate L 1%e6” o #8-32 x > Hex
Va"x %6” O.D.Washer /" solt Center #8 X 76" O.D.Washer ~ BoltGenter Washer Head
1 . 1 Self Tap Screw
14-20 Hex Nut v mA.
NON-FEED SECTION B-B
24" Min. - 60" Max.
. Bracket Adjustment .
¥a-10 x 5" Round Head
— Machine Screw
#8-32x %2 ; ;
Hex Washer l s op :
| V4" x %6 O.D.Wash |
Head Self w X asher ' Clamp
Tap Screw \ || i : ”
#6x 5" Hex /1
Head Self Drill - ER R o ) RS
Tek Screw RO B - L L NS I DRSS B SO
xS é‘ é‘ S 14-20 Hex Nut ‘ ¢ ‘ Ceiling Plate -7 é‘ é‘
L 1% 1% L 1%
O.D.Washer " Bolt C1eGnter_‘ " Bolt C1esnter_‘ " Bolt Clesnter_‘ B
1 Dim A. H
Mounting Center

/'Adjust bolt to

required depth
and secure with
lock nuts

Ceiling tile stop. Fender
washer and lock nut

WARNING: Ground fixture in accordance with local and national electrical codes. Failure to do so may result in serious personal injury.

US Prudential Ltg. reserves the right to change design specifications or materials without notice. Please visit prulite.com for most current data. 70f 10

© 2015 All rights reserved - All products manufactured at: Prudential Ltg. 1774 E. 21st Street, Los Angeles, CA 90058
12-07-2022



Quad & Quad Frame | Pendant & Surface lJ

INSTALLATION INSTRUCTIONS
X1 (T-BAR & SURFACE)

UPPER LEFT CORNER UPPER RIGHT CORNER

WARNING: Ground fixture in accordance with local and national electrical codes. Failure to do so may result in serious personal injury.

US Prudential Ltg. reserves the right to change design specifications or materials without notice. Please visit prulite.com for most current data. 80f 10

© 2015 All rights reserved - All products manufactured at: Prudential Ltg. 1774 E. 21st Street, Los Angeles, CA 90058
12-07-2022



Quad & Quad Frame | Pendant & Surface lJ

INSTALLATION INSTRUCTIONS
X1 (T-BAR & SURFACE)

Secure t-bar surface mount rail to
structure with support wire
(Support wire by others)

Ceiling Plate

4 x4 X1
Deep Electrical Box

Flexible conduit

Ceiling Plate
Connect conduit to
4"x 4" x 12" J-box
(Provided by others) Align fixture with ceiling
plates and place surface

mount canopy against ceiling

/ Ceiling Plate
/ 4" x4 x 1% ’

Deep Electrical Box /

Surface Moun’t/«-f ‘

Canopy \

Rotate (4) surface mount : /

canopies 90° over ceiling plates

%mmmmmmﬂh

— [~ A =

Connect wiress from
electrical box to fixture leads.

7/a"MounanCanopy

5" Fixture
Depth

l

WARNING: Ground fixture in accordance with local and national electrical codes. Failure to do so may result in serious personal injury.

US Prudential Ltg. reserves the right to change design specifications or materials without notice. Please visit prulite.com for most current data. 90f 10

© 2015 All rights reserved - All products manufactured at: Prudential Ltg. 1774 E. 21st Street, Los Angeles, CA 90058
12-07-2022



Quad & Quad Frame | Pendant & Surface lJ

INSTALLATION INSTRUCTIONS
X1 (T-BAR & SURFACE)

Dim. A.

Mounting Center (Parallel)

Mounting Center

Dim. B
Mounting Center

FIXTURE MOUNTING CENTERS
(SEE PAGE 5.)

o
1
I
1
I
1
1
I
1
I
1
1
I
1
I
1
1
I
1
I
1
1
I
1
I
1
1
I
1
I
1
1
I
1
I

. .

SURFACE CEILING PLATE CENTERS
(SEE PAGE 5.)

WARNING: Ground fixture in accordance with local and national electrical codes. Failure to do so may result in serious personal injury.

US Prudential Ltg. reserves the right to change design specifications or materials without notice. Please visit prulite.com for most current data.

100of 10
© 2015 All rights reserved - All products manufactured at: Prudential Ltg. 1774 E. 21st Street, Los Angeles, CA 90058

12-07-2022



